
�������� 

�	
����
�
���

�����������������������
�������
����

��
��� ���! "#�$
��%&'��

�������(��)*����+������,-./� 

�
�����0
123����
������
���������4)���0
123���

����������	
����
���������������������������

�������������� !��������"��#���$�����
����%&'%('%)*���+�,���

���-����+.����	/�%((�0�1���� 2�3.,�4�+�,���

��5�"./6�78/��

��

��

�5���6���9./"6���:;���3	<$�
�3��:;��=���>�?@�A���/�"3����;��3�����
�3�"�B/=���9./"6�/�
C��-��D�"��,�� 27D���3��=��
��

E�����F3.G����7�,��

%�������������	
���
������
	���
	����������
����������
����

���	��������� !"�����
��#�	����
�$�%&�'!(�)��*+,-���.��
	�/���������������0��1��

�2��	
���?/����H���7D���3��I�;$�3����A�1�?J3����?�/�KLM/�7����N===============O�=��

3������4�
����	��%&��$�5�,��)��%	+��������	�����3
�6���/78�����
	��������������0��1��

����4��)��7�9����!(�
�:;����4��'$��#�	��<�9����!(�
�:;����1���������������0����

%��

��������=������>���	��?�,!��
	��@���$�	
����6���A����
+�����
�����

���	���7�*��3�3��>	:/� <L!��====================
�3�7P1�O�=�&�Q�%�N���

�>���������R3�3���3�2���� ���������37D�=====================
�3� ����O�=�=����B8��C�"���N��

�S���T���7P1�F.U�I.�B/�"3�>	:/� <L!���8V�7��W�:/��====================
�3�O�=��@;+�������
�$N��

X'%��

)�����Y���./�7������D�3�� J�4����	������L�����	�
��Z/���[��
/=��

�EJ3���Q	��D��L��������D����3"����\L!����"3�����:;������3��P0,� �	
��9�]/=========�=====
�3=��

��>������������������ ^/�96�W�:/�������
�3�\13���	����3�����7�3�����S��4��������3��7�3����7/� �	
��9�]/���	^�L_�============

	��D� /=��

%��

`��	�
��E�7<$�3��7�"������a3���=�EJ3��������>������������7�������W4�� P�:/� <L!�	
V�������S��� Lb������3"��X'%��

X���3�"3����;��3��D�96�\L!����"3�Ic!d3����?�/�KLM/�9�����P0,�7�������L����I.�B/�	�
��
D�e� Y��
��3�Fd	�


�3�
D�e���3	0/�=	���6�
����D�3��
D�e��3	0/�96�fg�=��

���

�7�����������08��9����������$�:� 
www.riazisara.irاز سايت رياضي سرانمونه سوالاتدانلود



�������/ 

h��	
�� /�\P1����3"�\L!����
�?,��D�3�����3"�96��D��7D���\L!�Q L43�������3"�7��"�?��,�KLM/�7��������	�
��
D�e=��X'%��

&��	�6� /�	�	-�\D7/����Q�Z�P�?/���� L43���������3"�����"�?��,�\U�0$�"3�=���\D7/�A�3�\L!�F.U�A�D����PD3�

	���6�
����D�3��Z�P�?/�Ic!3=��

X'%��

���
�3�7�2��D�+.��\L!�"3�\L!����7������F.U�I.�B/�Q�KLM/�7��������	�
��
D�e=��X'%��

*��L43���������3"�"�?��,�������	�
��
D�e	
�7���KLM/�7�� =��%��

%(��	�
��i���96�S��4����P0,����"3�W4�����"3./� P4���27-���T��W4�"3����;��3��D=�O	������!.$�3��i���Z@37/N=��%��

%%������������7/�i�����7�3���������I�<�X�����)���	
�?��7�/� �,����=�����������7�]V.^�����7^�3��7D����7�2��D����7�3��"3��7$�����"3	,3

�����:/�3��Q
�3����/	�
�=��

%��

%���f]�7D���	,75�	]��Z�]/��7D����������3"�Q� U�:/� <L!���8V�7��������	�
��
D�e�����

%)�������3"��.4����9���h(�7D����Y����W4����-��DABF.U��D�a96�I�<�����
�3��3��7�3��"3� jCD�)�=R�

	��D� /�=0/�3	a���7$��"3��7�3����7/����L���AB	�D��D�3��=��

X'%��

%`��� Lb����3"����"3	,3�ZD�0/�Z]���D��Y.$��Dα	���6�
����D�3��=��

���

��

��

%��

%X����3	0/�7�"�Z]����x�����3"����"3	,3���ANB	�
��A��<$�3��=��

��

��

��

��

��

%��

\�Y���(��

, �
��;<����=������������������������������
5����
>��

����������	
���	
���������������
���

α 

A 

O 

B 

C 

�&( 

N 
A′ 

B′ 

��h +x 

A 

B 

%&* +x %(%( −x 


